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Suppose the demand function for wheat is Q; =10-2p and supply function is
Qs = 3p-— 5. The government is concerned that the market equilibrium price of wheat is
too low and would like to implement a price support policy to protect the farmers. By
implementing the price support policy, the government sets a support price p, =4 and
purchases. the extra supply at the support price. The gain in producer surplus at the
support price p, =4 is

(a) 20
(b) 28
{c 11/2
(d) 22/3

For the problem in QI, the change in consumer surplus of implementing support
price is :

(a) 14
(b) 10
€ 3
d 5

For the problem in Q1, the cost to the government of this policy is

(ap 21
(b) 20
¢ 14
d} 10
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With regard to Q1, suppose now the government switches from price support policy to
subsidy policy. For each unit of corn produced, the government subsidizes the farmer
s =5/3 How much money will the government have to spend in order to implement
this subsidy policy?

(a)
(b)
(e}
(d)

10
21
15
10/3

Which of the following will cause total revenue earned by cell phone producers to rise?

(@)
(b)
c)
(d)

The demand is price-elastic and the price falls,
The price falls and demand is inelastic,
Demand is reduced because consumers learn of new hazards of cell phone use.

The population in the econo'my increases dramatically.

Suppose the elasticity of demand for an iPod is -3-5. This means that

(a)
(b)

(c)

(d)

the demand for iPods is inelastic
the demand curve for iPods is very steep.

10 percent increase in the price of iPods will cause quantity demanded to rise
by 35%.

10 percent increase in the price of iPods will cause quantity demanded to fall
by 35%.

SPACE FOR ROUGH WORK
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Any point outside the PPF (or PPC)
(@) is not feasible, given current resources and technology
(b) represents efficient use of the economy’s resources

(o) represents inefficient use of the economy’s resources
(d) None of the above

If Britannia hires another worker, Britannia will be able to deliver an additional
20 packages an hour. The price of each package is Rs 5. The marginal revenue product
(MRP) of this additional worker is equal to

(a} Rs S
(h) Rs 100
ic) Rs 4

{d) 20 packages

If the total output of candles in Nick’s Wicks shop increases from 20 per hour to 30 per
hour as he hires the second worker, then ‘

(a} the marginal product of the second worker is 20 candles
(b) the marginal product of the second worker is 30 candles

(c) if the price of each candle is Rs 2, the marginal revenue product (MRP) of the
second worker is Rs 20

(d) if the price of each candle is Rs 2, the marginal revenue product (MRP) of the
second worker is Rs 30
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Minimize y = x; + x, subject to l-xi"2 -x,=0
@ x; =1/4, x5 =1/2
(b) x} =1/4, x5 =1
* *
€ x =4, Xo =
d) x =1/2 x;=1/4

x2 +2x-3 h

x2-x-2

The function [ R— R defined by f(x)= as

(@) two points of discontinuity at x =-2 and x=-1
(b) a single point of discontinuity at x = -1
(c) a single point of discontinuity at x = -2
(d) two points of discontinuity at x=2 and x=-1

311
The rank of the matrix C= AB, where A=(1 o 1) and B=
@ O
b} 1
€ 2
3

(d)

A = P
o W
N O




13.

14,

The probabilities that A and B speak the truth independently are p and g respectively.
If they make the same statement, the probability that the statement is indeed true is

()

(o)

(c)

(d)

Pq
pq+¥e(l- p)(1+g)

pq
pg+(1-pHl-g

rq
pa+(1-pil+g

2pg
pa+(1-pill+g

The probabilities of solving a problem by 3 students are £, 3 and 1 respectively. If each

one of them tries to solve it independently, then the probability that the problem is not

solved is
(@) 2/8
(b) 3/7
{c) 4/21
d) 5/21
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15,

16.

17.

The probability mass function p(x) of a random variable X is zero except at points
X=0,1,2and 3. If Cis a constant such that

P(0)=-2q: p() =2C-3C2%, p[=2C-1, p(3) =.29

then
(& C=1land C=2/3

(b) C=1
© C=2/3
@ C=3/2

The mean daily profit of a shopkeeper in a month of 30 days was Rs 650. The mean
profit for the first two weeks was Rs 575 and the mean profit for the third week was
Rs 400. His mean profit for the remaining days was

(@) Rs 32520 (b)) Rs 96111

{c) Rs 100-00 _ {d} Rs 92325

The distribution of the number of printing mistakes per page of a book is Poisson with
mean 3. Given that e™3 = 0. 049787, the probability that there is some mistake in a
page is '

{a) 0-049787 {b) 0950212

() 0905020 (d) None of the above

7/%



18.

19.

20.

The score of students in a certain examination is normally distributed with mean 46
and variance 400. Given @ (8)=0-788, where ® denotes the standard normal
cumulative distribution function, the probabitity of a student scoring less than 30 is

@) 0212 (b) 0112
@ 0222 @ 0111

Suppose equilibrium output is Y, and the price level is P, for an aggregate demand
curve and a classical aggregate supply curve, A technological advance will result in

(a) an increase in the price level and no change in the equilibrium level of output
(b) an increase in the equilibriﬁm level of output and the price level
{c) an increase in the equilibrium level of output and a decrease in the price level

{d) an increase in the equilibrium level of output and no change in the price level

Suppose equilibrium output is Y, which is below the full employment level, and the
price level is P, for an aggregate demand and a Keynesian aggregate supply curve. An
increase in government spending will result in

(a} an increase in the price level and no change in the equilibrium level of output
(b) an increase in the equilibrium level of output and the price. level
(c} anincrease in the equilibrium level of output and a decrease in the price level

(d) an increase in the equilibrium level of output and no change in the price level

SPACE FOR ROUGH WORK
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21.

Consider the following form of the IS-LM model, where expected inflation is zero (€ = 0
and net exports {NX) are also zero :

C=cy+q{Y -7

M4 :

T = dl - dzl

MS =M

where Cis the consumption, Y is the income, T represents taxes, I is the investment, i is
the rate of interest, M% is the money demand, P is the price level and MS is money
supply. Let G denote government spending. Then, the short-equilibrium (pair (¥,{)) that
makes goods and money market to be in equilibrium at the same time is

M M
. md (¢, "°1T+Q——1; pro LM md, (e -—clT+G)--}—,
a = N = .| — 4
@ bymd, +d, d{P % bymd +d,
’ M M
o mdl(co-cl’i‘+b0+Gng "y mdl(co"clT*bo’“G)‘“;
- bymd, +d, dy| P bymd, +d,
M , M
md,lcy —T +b +G)—F 1| M mdz(co-clT+bo+G)-7:-
(9 &= ;YT == +d,
bymd, +d, dy) P bymd, +d,
m(co—c1T+b0+G)-—ﬂ-J~ M m(co-c1T+bo+G)—£
@ = SN S E-TT A P
bym+d, P bym+d,
1
Note that we defin =———b, +¢ <1
0 em l—bl—cl h Cl
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22, The optimal trade policy for a country is always

(a) free trade

(b) restricted trade with tariff

(¢) subsidies

{d) C_an’t say

23. The maximum amount of food and cloth that two countries A and B can produce by
using all of the factors of production in their respective countries with the best available
technology is given below in the table :

A B
Food 500 1200
Cloth 700 800

Suppose A and B agree to a terms of trade ratio of 1 :

1 (i.e.,r 1 unit of food to be

exchanged for 1 unit of cloth), then the specialization and trade pattern would be

as follows

(a) A will specialize in food and export food, and import cloth from B

(b} A will specialize in cloth, and export cioth and import food from B

(c) A and B will not trade
(d) A has no comparative advantage and will import food and cloth from B

SPACE FOR ROUGH WORK
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24.

25.

The table below gives the demand and supply schedules for computers in a small
country '

Price per Quantity Quantity
Computer {8) | Demanded Supplied
100 900 ' 0

200 700 200
300 500 400
400 300 600 .
500 100 800

Under free trade the country was importing computers at a price of 100, but now
imposes a quota that limits imports to 300 comaputers. The price will go up by

@ $250
®) $200
(€@ $150
(@ $100

If the marginal propensity to save is 0-15 and the marginal propensity to import is 0-05,
then the multiplier effect on GDP is

8) 667
(b) 500
€) 431

{d} None of the above

SPACE FOR ROUGH WORK
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Sam consumes only two geods Xand Y. If X is a Giffen good for Sam, then T
{a)} Y must be a Giffen good for Sam ' | i
(b) Y must be a normal good for Sam

(¢} Both (a) and (b) are false .
{d) Both (a) and (b) are true

Marys ‘demand curve for food is Q = 10 — 2P. Her price elasticity of demand for food at
price P} is equal to - £, Find P*.

{a} 2

b} 4 :
ey 1
{d) None of the above : ' _ ' B

In a country,.cigarettes are forbidden; so people trade cigarettes in a black market. The :
cigarette demand is Qp = 12 — P and the cigarette supply is Qg = 2P. The government }
becomes aware of the black market and reinforces the police so that half of the cigarette ; ;
supply would be seized and destroyed. How does the consumer surplus change between . ) L
the two situations? k‘
(a) Remains the same

{b) Decreases by 10 . ' s

(¢} Decreases by 14

(d) Increases by 8

Cournot duopolisis face a market demand curve P =56 - 2Q, where Q is total market
demand. Each can produce -output at a marginal cost of Rs 20 (constant). The .
equilibrium price and firm quantity are P

(a) 26,6
(b) 30, 6.5 | }‘-‘_‘

) 36, 10 - | ' - N
@ 32,6 | i

4
&
4

Let the wtility function be U = x-y2, where x and y are two consumption goods. The

prices of the two goods and money income are p, =2, p, =3, M =9. The optimal
guantities consumed of the two goods are

|8/5% _



Two urns, contain red and blue balls, The first urn has 3 red and 7 blue balls, while the
second urn has 6 red and 4 biue balls. An urn is selected at random and a ball is drawn
from this urn. If the balil is red, the conditional probability that it was drawn from the
second um is

1
{a) 5

a
o/ I

{c)

win

{d} More information is required

. ~ The probability density function of a random variable x'is given as —12—, where 1 <x <o, ©
X

If the set A={x:1<x <2} and the set B= {x; 4 < x < 5}, the probability A w B is

{a)
(b) =
&y O

@ 4

Two urns, contain red and blue balls. The first urn has 3 red and 7 blue balls, while the
second urn has 6 red and 4 blue balls. An um is selected at random and a ball is drawn
from this urn. If the ball is red, the conditional probability that it was drawn from the
second urn is '

@ %

® 3

(©)

wiho

(d) More informétiqn is required

*.

The probability density function of a random variable x is given as —%, where 1 <x < oo,
. ,

If the set A= {x; 1<x <2} and the set B={x; 4 < x < 5), the probébility AuBis

@ %
® g |
{c} ©
@ L

3T 145
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10,

11.

12,

13.

14,

Import
A F

LN

O Cadl
T c Export

For the ahove offer curve OF, the absolute value of the elasticity of demand for imports
is meastred by

{ay OT/TC
b) OC/TC
) OC/OT
(d) C€T/OT

The necessary and sufficient conditions ft_:r'the factor price equalisation in thé
Heckscher-Ohlin model is

{a) factor intensity reversal

{b) incomplete specialization

{c} mnon-constant returns to scale
{

d) dissimilar production function

Restricted trade is superior to free trade for
(a) a small country '

(b} a large country

{¢} any country—small or large

{d} Cannot say

Quantities of labour embodied per unit of goods X; and X, ‘in country A are given by
0-3 and 0.7, while the same for country B are given by 0.2 and 0-9. Country 4,
therefore, enjoys comparative advantage in

(@ X

b} X,

{¢) Neither X; nor X2
{d} Both X, and X,

In the standard 1S-LM frarhework, an equal and simultaneous reduction in G and T will

cause

{(a) an increase in investment

{b} no change in output
(¢} reduction in cutput -

{d) increase in interest rate

vy
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-18.

16.

Consider an economy described by the following equations :

€=Cy+0.8Y,  T=T,+025¥  Y=C+I+G

Where Y, =Y - T is the disposable income.- Given this information, what is the
change in the national :ncome if the government reduces autonomous taxes by 50
fi.e., ATy =~ 502

{a)
(b)

{©

)

Increases by 100
Decreases by 100
Increases by 125
Decreases by 125

Consider the following aggregate demand system :

d s '
M% = AD -7 %_..i’%_ AD=C+I+G  C=140.5¢ [=1-0-5¥

Derive the equations for the IS and LM curves.

(a)

(b}

"0

17.

18,

19.

(d}.

(a)
{b)
{c)

(d)

4 M*

Y=84+r-G; Y= -2~2G-6r

MS
Y=44+r-2G,Y= ) +4+2G-3r

2M°

Y=4-r+2G: Y= —4 -2G+ 3r

5
M i2+G-r
P

Y=2-r+4G; Y =

In an open economy the IS curve has a slope that is

steeper than its counterpart in the closed economy

flatter than its counterpart in the closed economy

~same as the closed economy

steeper or flatter than the closed economy depending on whether net exports is
positive or negative

Consider the basic Solow model for this question. Suppose two countries A and B are
identical in-all aspects except that A’s saving rate is lower than B's, In the long run

()
(b)

()

(d}

income per person will be higher in A than in B

.income pér person wili be lower in A than in B

income per person will be the same in both A and B

It is not possible to compare mcome per person in the two countries based on the .

savmg rates

With fixed exchange rates, fiscal expansion will lead to an increase in dutput that is -

(@)
(b)

{e)

(d)

the same as in the case of flexible exchange rate
higher than in the case of flexible exchange rate =
lower than in the case of flexible exchange rate

Cannot say

2 K3

e et




20,

21.

22.

23.

The probability density function of a random variable yis 01 - y? for ylying between -
Oand 1 {« is a constant). Find the probability of y lying between 0.25 and 075,

(a) 0-2234
(b) ©0-0000
) 0.9876
(d) 0-6875

The function f: R— R defined by

v |x<1
f{xiw{zx if jxj>1

is
{a) convex and contjnuous on [- ],. =0}
(b) convex and continuous on [-1 1
{c) convex and continuous on (-, 1)

{dy None of the above

The conéumptian set
C={x, peR% x2x°>0andyz §°> 0}

is ‘

{a} bounded -

{b} convex

{c] convex and bounded

{d} Neither convex nor bounded

Find the determinant of the following matrix :

12 '3

A={0 1 -1

1 2 1
fa} 1
{b) -1
(¢ 2
b -2

17/5%
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24%. Find the producer surplus for a profit maximising firm with the marginal cost function

25.

MC1g) =2q + 1, when price is p, = 10.

(@ 22.50
{b) .25-20
(¢} 20.25
(d) 2220

The utility function

is

" (a)

(6)

()

(d}

[+

-1
Ug=2—""; 0<a<l1; xeR,

concave and increasing

convex and increasing

concave and decreasing

convex and decreasing

545 18/s%
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‘M.A. ECONOMICS

{ With Specialization in the World Economy )

[ Field of Study Code : EILM (202) ]

Time Allowed : 3 hours . Maximum Marks : 1060

All the guestions have to be answered, although there is an internal choice in
Question No. 5. Too leng_thy an answer will be penalized.

{a) State with adeguate reasoning if the following statements are True or False :

fi) Consider a utility function U{x,, x,5) = u(ﬁcl) + Xx,. The income effect on the
first commodity {whose quantity is measured by the variable x,} is zero. 5

() Own and cross substitution effects are always negative, 3
{b] Calculate the Lerner’s index when the demand function is given by
g= kp~*, k > 0, where g and p represent gquantity and price respectively.
{(Note that Lerner’s index is a measure of price margin.) 10
Consider an economy characterized by the following relationships :

C= 500+0-4*Yd
f=100+0 1Y ~ 5000x*{
G=200and T=200 " .

f;f:f_)“’: Y
P 101
8
(15 1000

where Cis consumption, [ is investment, G is government spending, T are taxes, Y is

. D
real income, Y,; is disposable real income, { is the interest rate, (%) is the real

s _
money demand and (—Ig) is the real money supply.

{u} Calculate the equilibrium real income and the interest rate in_this economy, 10

3

#

19/
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(b}

{a,_'

(b)

(a)

K

Now assume that the Central Bank increases the real ‘money supply 'to 2000.
What is the change in the real income and the interest rate under this pol:cy?
Provide the economxc rationale.

L)
What is factor intensity revcrsa!? Critically evaluate {with diagrams} the validity
of the Heckscher-Ohlin theory of trade in the presence of such reversal. -

What are the invisibles in the balance of payments? Examine the mechani'sm

and the implication of the fixed and the flexible exchange rate systems to

achieve the cquxhbrium in the balance of payments

(i) "Consider the set Ac R2 {that is, A is a subset of RQ) as defined by the

following : _
' A= {{x y)e_Rf:'1<:.c<7,‘y=x}

Draw the set A in the xy-plane, Is this set open? Is it bounded?

(i) Let f:R— R be defined by

2, xs1

X
=13

, x>1

Find the limit, lim f(x). Is this function continuous at x =1 Is it
. x-31 - - )
continuous on |0, 1}? Is it continuous on [1, 2]?

(i) A random variable X has a uniform distribution (rectangular distribution)
in the range (-5, 10}, Obtain Pr{}X|>4).

(ij For a discrete random variabie X, it is given that Pr{X =0 =Pr(X =2 =p,

and Pr{X=1)=1-2p, where 0 p< % Find the value of p that maximizes

the variance of X.

Answer any one of the following questions {in not more than 500 words) :

@

(b}

“International cooperation/coordination of policy responses is needed to deal
with the problem of globa! warming and climate change.” Discuss giving
economic arguments,

is the government’s response to the concemns about recent trends i food price
inflation in India adequate? What additional fiscal, monetary and trade pohc:es
could be proposed to deal with it?

* &k

o i

10

10

10

20
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ENTRANCE EXAMINATJON, 2009

M.A. ECON@MICS
( With Specialization irf the World Econorfy )

| Field of Study Code : EILM (10§) ]

Time Allowed : 3 hours Maximum Marks : 1008 ,

)
1. Consider a consumer with g utility function
Ufxf xy) = et xz)m, 0,x,20
foj Does the above fungtion satisfy the starngdard properties of utility function? 6 5*
. . k

{bj Let p; and p, be fhe prices of goods J and 2 respectively, and m denote the

LY
e

functions. 10

{fc) Wil the demar/ds for both the goolds be, necessarily, strictly positive? 4 .

(i) Find/the money multipli¢r, m. 2

(i) i to decrease the money supply by Rs 500 million
© 7 {ir order to raise the idterest rate}, what amount of bonds would it have

to buy/sell? A 3
fiu} “Money multiplier, multiplier, is applicable under a

condition of less than full employment.” Write Tnue or False. Give reasons.

{Note : 1 billion = 1000 million) 3
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